[bookmark: _GoBack]Work out the following assignments:  300 points total
1.        For the following three groups of scores find the:
a) Total groups sum of squares,
b) The between groups sum of squares, 
c) Within groups sum of squares
d) Degree of freedom for within groups
e) Degree of freedom for between groups
f) The between groups mean square
g) The within groups mean square
h) The F value

Group X                     Group Y                   Group Z		
62                                  60                               59
60                                  60                               49
50                                  58                               49			n = 15
48                                  53                               47
47                                  49                               42

	Group X
	Group Y
	Group Z

	X
	
	X
	
	X
	

	62
	62 x 62 = 3844
	60
	60 x 60 = 3600
	59
	59 x 59 = 3481

	60
	60 x 60 = 3600
	60
	60 x 60 = 3600
	49
	49 x 49 = 2401

	50
	50 x 50 = 2500
	58
	58 x 58 = 3364
	49
	49 x 49 = 2401

	48
	48 x 48 = 2304
	53
	53 x 53 = 2809
	47
	47 x 47 = 2209

	47
	47 x 47 = 2209
	49
	49 x 49 = 2401
	42
	42 x 42 = 1764

	

	

	

	

	

	




A. Total groups sum square
		
			



 

B. Between groups sum of square










C. Within groups sum of squares
 









Group X = 199.2
 

 







Group Y =  94










Group Z =  152.8


D. Degree of freedom for within groups





E. Degree of freedom between groups






F. Between groups mean square








G. Within groups mean square









H. “F” value



The null hypothesis is rejected.



2.       Compute a Single classification analysis of variance on the following data, determining the:
A.  Sum of X for each group
Group A 
14 + 12 + 10 + 10 + 9 + 6 + 6 = 67

Group B
17 + 15 + 12 + 9 + 9 + 7 + 7 = 76

Group C
14 + 12 + 12 + 11 + 11 + 10 + 10 = 80

Group D
8 + 6 + 5 + 4 + 2 + 2 + 2 = 29

B. X square for each score 
Group A		Group B		Group C		Group D
14 x 14 = 196		17 x 17 = 289		14 x 14 = 196		8 x 8 = 64
12 x 12 = 144		15 x 15 = 225		12 x 12 = 144		6 x 6 = 36
10 x 10 = 100		12 x 12 = 144		12 x 12 = 144		5 x 5 = 25
10 x 10 = 100		9 x 9 = 81		11 x 11 = 121		4 x 4 = 16
9 x 9 = 81		9 x 9 = 81		11 x 11 = 121		2 x 2 = 4
6 x 6 = 36		7 x 7 = 49		10 x 10 = 100		2 x 2 = 4
6 x 6 = 36		7 x 7 = 49		10 x 10 = 100		2 x 2 = 4
C. Total sum of square
Group A
196 + 144 + 100 + 100 + 81 + 36 + 36 = 693

Group B
289 + 225 + 144 + 81 + 81 + 49 + 49 = 918

Group C
196 + 144 + 144 + 121 + 121 + 100 + 100 = 926

Group D
64 + 36 + 25 + 16 + 4 + 4 + 4 = 153




	Group A
	Group B
	Group C
	Group D

	X
	
	X
	
	X
	
	X
	

	14
	196
	17
	289
	14
	196
	8
	64

	12
	144
	15
	225
	12
	144
	6
	36

	10
	100
	12
	144
	12
	144
	5
	25

	10
	100
	9
	81
	11
	121
	4
	16

	9
	81
	9
	81
	11
	121
	2
	4

	6
	36
	7
	49
	10
	100
	2
	4

	6
	36
	7
	49
	10
	100
	2
	4

	
	
	
	
	
	
	
	

	67
	693
	76
	918
	80
	926
	29
	153

	
 = 252

	
2690





Total sum X squares:









D. The between sum of squares












E. The within sum of squares, 
































F. Degree of freedom for between groups






G. Degree of freedom for within groups






H. the between groups mean square,







I. the within groups mean square








J. and the value of F




The null Hypothesis is rejected.
